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Why is it so by a%9w; — W27 NP Y N KD 1w e I
For it never had a moment of permissibility

Overview

The x3 attempts to refute the 1"'p from 797y which would have taught us
X1 MOK by 2%m2 qwa. The X3 states that we can argue that 727V is stricter
that 11"22 since the fruit of 777y were never permissible (therefore they are
TR TOR), however the w2 and 291 were initially permissible (before they
were cooked together), therefore their prohibition should be more lenient
(and be 78172 7). Our MdIN discusses whether there can be 797y which
did have a w1577 nyw (and thereby restore the 1"p).

nooIN asks:
— 99N NYVY N9 NNV NYIYN ‘]b’) GUN 12 PNN? 1229 AYPN

The X'"2°1 asked let us derive the 7817 M0°X by 2772 w2 from a case of

s»9y which did have a 2577 nYw. mooin will now describe a case of 797y where

(seemingly) there is a 127 YW -
— 9P IN 125997 1PN59 19123 KIY 190 Y 19N 939 503 P9

For instance if he took a branch from a permissible (non 777v) tree,
whose fruits (of the branch) had not yet ripened and he grafted it to an

777y tree or he planted this branch in the ground. In both cases the grafted branch or
the new sapling has a "7 of 797y and (even) the existing fruit is considered 797y mo.
However they had a "w1>n nyw (before the branch was cut) and nevertheless it is 70X
X172, the same should apply to 1"22.

N1B0IN answers:
—IY0I IN 129990V NN DTIY N9 NIN TDIN 1INRT PNYY 13929 99N

And the "1 answered that only that which grew after he grafted it or

after he planted it, is 990X on account of 797 -
— AWM NYY 1Y NN XY AN

And this new growth did not have a "2 nyw -
— 99D9RN NN 239 NN TON) 199N sy 99

And concerning the original fruit of the branch, that is not intrinsically
forbidden, but rather it is forbidden because of the admixture of the
newly forbidden growth -

"It is apparent from Mmoo that if the fruits were already ripe there would be no M1°x even after the branch
was grafted or replanted.
* See w"w1 and 072X N2,
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— a1 90 19 99NN DY D193 9I¥N IMN D27aNY 5152 YN ON)
And indeed if he could have separated the original fruit of that branch
from that which grew later, the original fruit would have been permitted.

The X n3 shortly asks why we cannot refute this 1"p by asking that 035771 °X?2 cannot be a
moY since they too do not have a w171 nyw.* Seemingly the s'x"2™ question should apply
here as well; the initial plantings (which are now 710X) had a w127 nyw before they
became 2°X?5! MooIN explains that the same (previous) answer applies to 0’73 as well.

- 5:1‘,7) NO8Y 9299 IN TONI 1IPOY NP1 KDY ON 0991 INDD 19

And similarly by 29577 °KY3, if the initial plantings would not be forbidden

as D°X7), or the case of passing a perforated flowerpot through a vineyard;

they would be -
— V19N NYVY 1D NN R VN

Considered as w277 nyw Y2 ;197 KY, even though the entire subsequent growth
(including the initial plantings) is 710K =
1 9UNN NYY B9IPN 1Y 151 NY 13 $INN TTAN NOINDY

Because the later growth which is forbidden never had a 212577 nyw, and
the reason the initial plantings are 70X is because they are intermingled with the later
growth which is 2°K%2.

Summary
The original fruits of a grafted (or replanted) branch are 777y avvn 70K

(only) because they are intermingled with the new 17979 growth. The original
growth is intrinsically 0.

Thinking it over

moon explains that the original fruit of the grafted branch is 70X because
we cannot separate it from the new 7197y growth. Does this mean that
intrinsically they are separate but we cannot distinguish between the two; or

? The rule is that the fruit on the grafted branch is considered 727v. In the question Mo assumed that even
the fruit that was there initially (before the grafting) is also 777v; that would render it as having a 72157 nyw
(before the grafting). In the answer n190I1n explains that the initial fruit is not intrinsically 7%7; it is 710K
only because we cannot separate the new growth (which is 1979) from the initial growth (which does not
become 177). The entire fruit is 110X because the 2> and MR are intermingled.

* The X3 answered that this (the fact we do not ask this question) proves that by 27571 *X95 the initial
plantings also become [intrinsically] 710X and therefore the initial plantings had a w127 nyw.

3 The X2 shortly cites a m1wn that if one passes an 2121 y°%X¥ (of 2°¥77) in a 073; the rule is that if 701
onR7 it is a°X?2. Concerning 2171 p°Xy ayn the X3 concludes that 17p°Y are not 110R3; only the new
growth (if it was 0»nR» 7°017).
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that they are so entwined that in every piece of 0’7 there is intermingled
some T10°X?

3

TosfosInEnglish.com



